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I.  jxsinxdx

3. lx’ Pn x dx

5. 5 set’ x dx

7. sx”e*’  dx

9.  s x se?  3x dx

2. Sxe’ dx

4. [xv’%i  dx

6. s x2 sin x dx

8. lx cos x dx

10.  iarccos 2x dx

1 I. qarctan  x dx 12. j&dx
(1 +xy

13.  jx arctan x dx 14. sx2em3’  dx

15. {x3  sin x dx 16. lx arcsin x’ dx

17. Ssin  x sin 3x dx 18. Ssin  (Pnx)  dx

19.  Sear:  cos bx  dx 20. se”‘ sin bx dx

‘e
23. ! Pn x dx

L

E
‘3

24. ! x2  sin 3x dx

0

) fi
25. I x3ex2  dx

0
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awm:i1 d z  =  ;s.ec’  ;dx

(2) i;idu d x  =  ;i:jdz

dlWfU  cosx  o:Xh

cos  x  =  cos*  5 - s i n ’  x
2 2

= 2 co?  ; - 1

2= p-1

se2 5
2

2E - 1
1 + tan?  2

sin x = 2 sin 5 c o s 1
2 2

sin 5
=
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(4) G& 2zs i n  x =  ~
1 fZ2
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” Isin x?tan  x

2.  s1  +sin  6?+cos  6x

4. \ dx
.4cosx-3sinx

5. \- dx
‘2+2  sin x+cos  x

6. 1 de
5 set 8-3

8. y
de

‘~0s  e-3 sin e+3

9. [ set e de
.3  set e+2 tan ei2
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1.8 &dG%‘a%d~a~lllJ¶J  (Improper Integral)

3

iiFiuw”n~a9hs-ww  (improper integrals)

‘ b

f(x) dx = limE -0’ I
f(x) dx

a “ZliE
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‘b “b E
f(x) dx = lim

E-a’ ! f(x) dx &tU

a a

. !
‘3 dx7 = lim
“<9-x* E--O'

= Ji-yuarcsin  r
3-E

0

=  !iyo+  arcsin  ?<s - 0
i i

.

= $n+  arcsin
3-g

3

= arc sin 1

7r
2

” d x
i 2-x = 2’:.

I

‘2-E&

"a
2-x

0
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‘2-E
= -- lim

e -0’ I &d(2 - x)
"0
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‘rn
J

‘0 b
f(x) dx = lima--Cc f(x) dx

-m a 0

b

n

= i b$ym  arc tan $ -aarc  tan 0t I

= .!1I-0
i )2 2
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I-- -0
2
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= &rll,  (O-arc tan a) + ,‘il (arc tan b-0)

0 h
= aI;l~marc tan&  + iir”, arc t a n  eX

a 0
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= lim
i

n - a r c  tan eaj  + Fli% (arc  t a n  eb-,j
a--m 4

= ($-oj+(;-$j

n
2

‘cm
dx -71

I ~--ex  + e-’ 2
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‘I
3 . !

?cn!!dx
x

0

6 .  - - -
i
‘magi  x dx

1 +sin  x
‘0

1 0 .

1 5 .
!,
‘-2

v’x

‘cc
1 7 . I em’  cos x dx

‘0

‘cc
2 0 . x3 e?*dx

0

‘rn
21. ! eyee’  dx

-m

23.

‘CC
22. x5 e-' dx

-0

‘b
2 4 . eye” dx

-Ir
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Y y = f(x) Y
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s b

v = R f(x)* dx
a

= R!

b

f(x)’  dx

c

d
V=n f-W*  dy

Jc
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Method

Y y = f(x)

Y

4

.
b
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V  =  27rrdy  g(y) d,y

V, = 2n "'xjf;(x)-  f,(x)]dx
I
"0

MA 112



v,  =  2 n  “‘y(2-  9)  dy
s
0

4 $2
=  2 n  ~‘-5I II

0

0

= 2n $-$t )I’
0
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= F(x) dx . . ...(2)
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